Math9 . Name:
.Chapter 5 Review

O_EARNING OUTCOME: 5A: I can describe and classify polynomials.

1.  Which description on the right descnbes each expression on the left. (some may
have two descriptions)

@ -4x+2  __B,DAH A monomia

o) = I S - binomia

X
(c) ¥ B ___/__‘\____. e’ trino‘rﬁjo‘!

(d) -5x* . | ___A___ D/ poiyndmiol with a coefficient of -4
(e) x*-3x+5 | Q, C’\,H \E/ non-polynomial

(f) ~—4x*+2x+3 C, D, G§.H & polyno.miol of degree higher than 2

L

(9) | 6— 4x* E),Q, F, \ | (B/ “polynomial written. iIn-descending power
Q | H/ Has a constant term. ‘

LEARNING OUTCOME: 5B: I can use algebra tiles to represent a polynomial

2) Represent the following using algebra tiles.

mi: @I

LEARNING OUTCOME: 5C: I can simplify polynomials by combining like terms.

3. Simplify each of the following.
> 2
(O) 2x—=3—x+2 | (b) 2x2+x_x2_x 2_% "x M

2X-X -3+
2 , F "]
O'c) —2x° =54+2x+x*-3-x | (d) 10m° = 2m <3 6mAR
-22:2+x’+?_x—x— $-3 lg—m-‘z'j
= [x*+xc-3) -

1



4. Determine an expression for the perimeter in simplified form.

a+3 oy

7 123

LEARNING OUTCOME: 5D: I can add polynomials.

J. Add the following polynomiails.

(@) (2x-3)+(—4x+1)

2x -3 -2y tx*- 3)'?‘
-qx +|2 "'"xY "'th"’\ 7
e F2cy +3x ™

6. Write a polynomial expression for the following algebra tiles. Then simplify.

LEARNING OUTCOME: 5E: I can subtract polynomials. Simplify each of the following.

/. Subtract the following polynomiails.

(@) @x+3)-(5x+4) 2x¢+3 (b) - (4-8w)-(Tw+1
t-SHc- Y “Fwt¥ |-t
[-Bx"", t -Fw )

(c) (x2+2x 4) — (4x* + 2x - 2) (d) (922-z-2)-(3z22-2-13)

,E - (22%+ |




LEARNING OUTCOME: 5F: I can multiply a polynomial by a monomial

. Multiply the following polynomials.

a) 3(4n-5) = | b) 3n(4n—-5)=
12 -1S I2n —\Sn

C) -2(4t — 8) = A d) —2t(4t —8) =
-8t +16 - -8t THIGt

~ LEARNING OUTCOME: 5G: I can divide a polynomial by a monomial.

9 Divide the following polynomials algebraically.

4' 21 8x+16 - ' . 5x° —10x* +25x _ 2
—x——f——:,xl-i-ZI—fk{' T X -2x+ S

10. Write an expression that represents the area or perimeter of the following figures.

The perimeter of a rectangle with length 7x - 3 and width A + 5

a)
2 (7x 3) + 2 (Ge+5)
, 1%c-6 + &x+10 P | 23%*"*]
o) The area of a triangle with base 6x and height 10x + 3
T bl N & Area of o
Wangle
Ex (1o 13) I
o |
- | O *+ (8x

A .




